------------------------------------------------------ start of text proposal ------------------------------------------------------
[bookmark: _Toc510716741]5.3.1	Polar coding





The bit sequence input for a given code block to channel coding is denoted by, where  is the number of bits to encode. After encoding the bits are denoted by, where  and the value of  is determined by the following:

Denote by  the rate matching output sequence length as given in Subclause 5.4.1; The UE is not expected to transmit or receive the bit sequence if , where  is the number of parity check bits as defined in Section 5.3.1.2;
< Unchanged part omitted>
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If the payload size , code block segmentation and CRC attachment is performed according to Subclause 5.2.1. If ( and ) or (), where , ; otherwise , where  is the rate matching output sequence length as given in Subclause 6.3.1.4.








If , the parity bits  in Subclause 5.2.1 are computed by setting  to 6 bits and using the generator polynomial  in Subclause 5.1, resulting in the sequence  where  is the code block number and  is the number of bits for code block number . 








If , the parity bits  in Subclause 5.2.1 are computed by setting  to 11 bits and using the generator polynomial  in Subclause 5.1, resulting in the sequence  where  is the code block number and  is the number of bits for code block number . 
[bookmark: _GoBack]------------------------------------------------------- end of text proposal -------------------------------------------------------
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